9. 5.

31797/ OR
AT @TAT 98 fh Ped 8° AMITaT S5 @il S aTel Wl al
TS HIFTT |
What is cost ledger? Explain the accounts generally maintained
in it.
frforRaa Sammelt & ava SHa | ufafscar fHifm)

From the following information, make entries in the cost journal.

Purchase Rs. 3,90,000
Carriage Inwards Rs. 5,850
Stores issued Rs. 3,58,800
Productive wages Rs. 3,46,320
Works oncost Rs, 3,48,400
Unproductive labour Rs. 1,21,680
Materials used in repairs Rs. 3,120
Cost of completed jobs Rs. 12,80,630
31797/ OR

TR oIRTT ol@ihd & IRYTST ST §9 TR F N adid B
= gt @1 quie HIful e 9l T A sasdl a8
fafer fo5e TR & et 9 AR Bt 87

Define process costing. Describe the general principles of this

type of costing and give its salient features. To which industries

is this method applicable?
* 0
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Note : Attempt any five questions. Each question carries equal marks.

9. 1. % RF=R, 2004 & oY & HREM 7 YR & @ 78 $H Wi AR
T & faaror 59 U £
The following are the details of receipts and issues of an item of

stores in a factory for the month of December, 2004.
December 2004

Receipts Issues
D ate Quantity Rate Date Quantity
1 500 Kg. Rs. 20 (Opening Balance 3 70Kg.
14 20 Kg. Rs. 20 (Return) 4 100 Kg.
20 200 Kg. Rs. 22 7 80Kg.
27 15 Kg. Rs. 20 (Return) 16 200 Kg.
25 200 Kg

AT P Jom S "l fifae & MeR WR Jedifdd a1 8l Fid
ot gRT 15 foqwaR @1 5 freium &t 3k 31 famR &f 7 o™
o Borg Ruie A T8 &1 Th IR ook TIaT TR Hife |

Issues are to be priced on the basis of first in first out. The stock
verifier of the factory report a shortage of 5 kg. on 15" December,

and 7 kg. on 31°* December. Prepare a stores ledger account.

31797/ OR

(i) $.9.3./PT.0.



9. 2.

foefir oikal g @rra @t A iR garsul
Differentiate between financial accounting and cost accounting.

fFRITRET RO ASTaT & ST Uep S1fHe Bl FHTg aaTey, I
a8 B B 150 T Tl & TAF W 120 BTt H G IR ol &, IqD
Ot BERR 2.50 ¥. B IR W SHdH A9y & AfIRad 10 %, ufafea
(8 &ic &1 U ) &t R A HETE 1T ferar 81/ What earning will a
workman receive under the following incentive schemes if he
executes a piece of work in 120 hours as against 150 hours allowed
to him. His hourly rate is Rs. 2.50 and he gets a dearness allowance
of Rs. 10 per day of 8 hours worked in addition to his wages.
(a) Halsey premium plan 50% bonus to workers.
(b) Rowan premium plan and
(c) Emerson efficiency plan

31797/ OR
SURSTRIT I T SIHURT 82 ST aviaur fohT TepR fapam S apat &7

ITERTT Afed AHEUl/ What is meant by overhead? How can these
be classified? Explain with examples?

U HrOT 1 e TR Bt sl 'A' iR 'B' T IS Il 8 1 A ThR
@I 600 TAT B HBR @ 800 MISAT & FANM & IF @Y & GI

fe=1feiRaa €1 / A company produces two distinct types of vehicles.

A' and 'B' the total expenses during the period for assembly of
600 of 'A" and 800 of 'B' are as under.

Rs. Rs.
Materials 1,98,000 Deprecition 2200
Direct wages 12,000 Labour Amenities 1500

19,800 General works Expenses 30,000
4,400 Office and sales expenses 26,800

Stores overheads
Machine Expenses

(i)

3T G 9 UPR Bl / Other data are.

A : B
Material cost ratio per unit 1: 2
Direct labour ratio per unit 2 3
Machine utilization ratio per unit 1 2
wﬁ%wﬁ%ﬁvwﬁﬁ@waﬁaﬁw%aﬁﬁ@m
TSt Y U SPIS AT S DI

Calculate the cost of each vehicle per unit giving reasons for the
basis of apportionment adopted by you.

31797/ OR
SPIS AT i@ (e i g fIANam ear-a1 87 T SUHAl & A4
qarsy e forg a8 faftr Jet s1fere Swga 2

What are the main features of unit costing method? Name such

undertaking to which it is most suited.

T SIS T qAT T AMS & At | Toran &1 ol |
gfesar T §9183- /A product passes through two processes. A
and B prepare process accounts from the following-

Process A Process B
10,000 units introduced at a cost of Rs. 20,000 -
Material Consumed Rs. 24,000 12,000
Direct Labour Rs. 28,000 16,000
Manufacturing Expenses Rs. 8,000 8,566
Normal wastage on input 5% 10%
Scrap value of normal

Wastage (Per 100 units) Rs. 40 50

Output in units 9,400 8,500

YAP UhaT I & AT T & /gad w@rar, oy ot fRfa &,

g-15U1 / Also prepare abnormal wastage/effectives account as
the case may be, with each process account.

(iii) $.9.3./PT.0.
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Note : Attempt any five questions. Each question carries equal marks.
9. 1. fo<ita it A o1 e 8° i st at ot ot + aier S e 87
What is finance function? Classify finance function in diffrent class.
31797/ OR
o fAfcs Ue 799 90 e W faaR o= W& 81 99IR 5 &F 7ef ‘ot
T ‘T U B AN 1,00,000 . &l PR UL e T gd dr
U 3R 39 HR &
Kanchan Ltd. is perposing to purchase a machine. In market there

is two machine 'A' & 'B' are available which cost is 1,00,000 Rs.
each. Cash inflow after tax but before depreciation are as follows.-

Year 1 2 3 4 5
Cash inflow
for machine 25,000 37,500 50,000 25,000 12,500
"A'" Rs.
Cash inflow
for machine 12,500 37,500 50,000 37,500 25,000
'‘B'"Rs.

JreTrt 3rafyr fafer g1 <M fadeat @ Feaia iRl
Evaluate both alternate with the help of pay back period method.
Y. 2. Yoil g & gk S| goft a1 & UTHY B JHes|

Describe capital structure. Explain patterns of capital structure.

(i) $.9.3./PT.0.



31797/ OR
afime fafice = 10 ®. atel 1,00,000 Yof USTT T 39T i
5 81 7O ¥ 3,00,000 . BT IR ULAT AT HHIAT Bl 39 72 W 2
5. URT 39T AT BT S T 1T & | 379l T TR 5o 25 .
Tfl 379 &1 i wife ey e aro unfer fafer 1 s #va gy
ST 3797 Uit T AR Y TUAT Hy|
Abhishek Ltd. was issued 1,00,000 equity share of Rs. 10 each as
fully paid. The company has earned a profit of Rs. 3,00,000 after
tax. One these shares dividend has been paid at the rate of Rs. 2
per share. Find out the cost of equity capital using dividend yield

method and earning yield method. The market value of more is
Rs. 25 per share.

Ut A¥aT # gRacH | MY a1 FHeI 87 Yol AvaHT § giRad &t
3MaeHAT g URaT & ST Pl TS|
What do you mean by changes in capital structure? Explain the
need & modes of change in capital structure.

31797/ OR
quvt foafics & w1fid &mar 10,000 @Al Ufiay 21 aafa®
TIRIAT &FaT 8,000 SHRAT ATt g1 Ui P18 fded Jed 5 ®. Al
uRad=elia ara 3 %, 81 f= i fRufoal o oeies ferfar & afarers
SUAD HT TOFAT HIVY TG AR Hifg|
(i) o9 Tt AN 6,000 . aIfd® &l
(i) & Tt AN 8,000 %, arfdd &l

(iii) g Tt AN 12,000 ®. qiffe &l

The installed capicity of Tapasavi Ltd. is 10,000 units per annum.
Actual capicity used is 8,000 units per annum. Selling price per
unit is Rs. 5. Variable cost is Rs. 3 per unit. Calculate the operating
leverage in each of the following three situations and comment.

(i)

(i)  When fixed cost are Rs. 6,000 per annum.
(ii)  When fixed cost are Rs. 8,000 per annum.
(iii) When fixed cost are Rs. 12,000 per annum.

amraier e 39 R Fuera 82 anraier T @1 ek g ger a9ssy

Explain the meaning of Dividend policy. Explain the determination
of dividend policy and its types.

31797/ OR

feg el farfiice & wea ot 1,00,000 . 81 0T = 9ig aof A
HHA: 24,00,000, 30,00,000, 20,00,000, 10,00,000 9
20,00,000 . 31Rfd fra &1 @ f=fey &nft afe (i) st 50 wifdrera
@1 R T 3rgUra &l AifT (o=t 8 dor (i) &=t 15 ufiera
fRR FTHTe &l AT AT 82

Vishwa Bharti Ltd. have a paid up capital of Rs. 1,00,000. The
company during five years earned Rs. 24,00,000, 30,00,000,
20,00,000, 10,00,000 and Rs. 20,00,000 respectively. What will

be the position if, (i) the company follows a policy of stable payout
ratio of 50% and (ii) if the company follow a policy of stable

dividend rate of 15%?

FrRidid gSl & Uergd | T 7 93 &7 driefer goit &l

ST DY AT |
What do you mean by management of working capital? Explain
nature or concept of working capital.

31797/ OR
T & Ua+e ol 31ef T 87 U & Ueey & I29d o IHssy|

What do you mean by receivables management? Also explain the

objective of receivables management.
* 0

(iii)



9. 5.

a‘g él \a ié !_
Write short notes on-

(i) Farpelieivs i Suatfed faamemT/Acheivment theory of Mc-cllelland
(i) Probet T TERAE fAARERT/ Behavioural theory of Kunkel

FENT & IR ol o1 Sert & Ui IETe SNSRI Bl FHssY |

Explain the responsibility of different sections of societies towards
Entrepreneur.

3197a1/ OR
STl e pRigT I 7 arad 87 396! fIdvan, urifiedr @
SUATEAT BT TS HIRTT|

What do you mean by Entrepreneurship Development Programme?
Explain it's characteristics, relevance and achievment of EDPs.

Javaca o FaT 37ef 87 §PB UPHR UG TqUacd b HY H ST DY e
I |

What do you mean by Innovator? Explain it's type and role of
Entrepreneur as a Innovator.

3197a1/ OR
3T fereerae § St avf i ufier Tesy |
Explain the role of Entrepreneur in impart substitution.

400

(i)
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Note: Attempt all questions. Each question carries equal marks.

9. 1. U & goR, f[aewan @ gew sl
Explain types, characteristics and importance of Entrepreneurship.
3197a1/ OR
oy fewuft forRgu— / Write short notes on-
(i) SIS P 7T HererdT fraRERT/ Leibensteins X-efficency theory
(ii) griier Y FaraR fa=RERT/ The innovation theory of schumpeter
U. 2. b A%l ST A fAddran &l q9smsy|
Explain the characteristics of a sucessful Entrepreneur.
3197a1/ OR
Fq@ @ aRaYd AR Ag@ H vPph, Je@ v@ AT T

Define Leadership. Explain nature, importance and characteristics
of Leadership.

U, 3. JUPpH &b Fda i Ufhar TS|

Explain venture promotion process.

31797/ OR

(i) $.9.3./PT.0.



9. 4.

(i) WRf Tl argurd/ Cash Reserve Ratio.

P BN §b T AT FT IS 22 Pold GehR! b I ko
R’ &g e Jgema ARl

What do you mean by Central Co-operative Bank? Give suggestion
for Loan Policy of central Co-operative Bank.

3197a1/ OR
TR S AT 1949 B TR
Explain Indian Banking Act. 1949,

o Rpraeier srefeaeen ¥ sifke Ay B qfier B R SR

Dscuss the role of Monetary Policy in a developing Economy.
3197a1/ OR

% I M9 g1 TSI £° 29 & [ApT 7 §5 B Ifiie B TS|

What do you mean by Bank? Explain the role of Bank in
development of country.

400

(i)
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Note: Attempt all questions. Each question carries equal marks.

9. 1. &g I d T AEPRT 3 DBl Jor T DIl

Comparison between Rural Regional Bank and Co-operative Bank.
3197a1/ OR
o & frg O AR it o T

Explain schedule related to Balance Sheet of Bank.

0. 2. 3refcggven § 96 & Hed W o folkau|

Write an essay on "importance of Bank.
3197a1/ OR
TR ST Frivvmett @ T9sngd

Explain Indian Banking System.

¥. 3. aRag Rod §a & Arg frg=or S Hr @ i
Explain the policy of credit control by R.B.I.

31797/ OR
f/=1 W fergult farRau—/Write short note on-
(i) fid % & ufeaf=ad arf / Prohibited functions of R.B.I.

(i) $.9.3./PT.0.



3197a1/ OR
Sitem = & diF-3 J gear feffa fe v E? 99 wR fRar | =af
|

What are the main values of Science of Living? Discuss in detail.

3T B IAR-AEAT B I H FIT UIhar 8° TS |
Clarify the relevance of ethical code of conduct of Anuvrat.
3197a1/ OR

S gef 7 vl @f for U F TR AT AT 82 FUSClaRu |

Explain Economic in Jain philososphy.

ATeTTHD Al P BT FAT—FAT 872

What are the parameters of spiritual personality?

31797/ OR

foredt U WR fewult fod—/ Write short note (any one)-
(i) e ufdreror & IR ma/Four phases of Training in Non-violence
(ii) i1 & 9 / Types of Nirjara

400

(i)
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MM : 70

: el ufg uest & SR A1 gft uesi & 3w g9I= € 1

Attempt any five questions. Each question carries equal marks.

f&=AT o PIRUT U AT Pl FHAT gV 31T B wUl Pl franfed @
Explain the different forms of Non-violence while explaining the

causes & types of violence.

3197a1/ OR
o 29 & FH Rigrd R fIIR 9 Uh1e ST

Throw light on theory of Karma in Jain philolophy.

Aq (5eu) ft Ped €2 9% TBRI @l fadem fHifvml

What is substance? explain its types.

3197a1/ OR
ST 3T T 3MYR U 39N A 6 -7 fJuam 82 gui i

Explain the basis of Jain Ethics & its importance?

S fasT™ & 3999 @ faarT & ey W g Sifefu|

Throw light on origin & development of Science of Living.

(i) $.9.3./PT.0.
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Note : Attempt any five questions. Each question carries equal marks.

9. 1. el [ull & TUMT IR |

Calculate current assets.
Stock turnover ratio
Sales

Gross profit ratio

4 times
6,00,000
20%

Opening stock is lessthan 10,000 over closing stock

Current liabilities
Liquid Ratio
31797/ OR
fewuft #=1- / Short note on-
(i) fo<r fda=oT / Finanancial Statement
(i) orgura faee™ur / Ratio Analysis
9. 2. 51 faeRon & TUET A

Calculate labour variance.

Grade SH SR AH

A 2000 50 3000
B 5000 20 5000
C 7000 30 2000

(i)

40,000
75:1

AR
20
30

50

$.9.3./PT.0.



ST @_i- / Calculus

(i) ot A guTE/ PIV Ratio

31797/ OR

(i) I faess fo=g/ Break even point
(iii) JRa&m A1/ Margin of Safty
(iv) 5,00,000 @t fedht TR @19/ Profit when sales is 5,00,000

Sales 5,00,000
Variable overheds 1,00,000
Fixed overheds 2,00,000
Profit 2,00,000
Balance Sheet
2009 2010 2009 2010
Share Capital 2,00,000 1,00,000 Cash 10,000 20,000
Creditor 1,00,000 1,00,000 Debtor 50,000 30,000
Stock 40,000 50,000
Loan 2,00,000 3,00,000 Machine 2,00,000 1,00,000
Building 2,00,000 3,00,000
5,00,000 | 5,00,000 5,00,000 | 5,00,000
oA /Information
(i) omrer geprr /Dividend paid 5,000
(i) #9f9 W g /Deprivation on machine 10,000

DI aTE foavur IR B |

Prepare fund flow statement.

(i)

9. 5.

31797/ OR
Aps TaTE fIavur a7 87 39 B IR B3|
What is cash flow statement? How it will be
prepaired?
Al soIC T E? $D FET P qu B |
What is flexible Budget? Described it's importance.
31797/ OR
Al foRo 6t TUFT B
Calculate material variances.
Grade sQ SP AQ AP
A 100 10 200 20
B 200 20 300 15
300 500
-Loss 30 - Loss 50
s/o 270 450 A/O

fewquft =11 /Short note on-
(1) fsure sic/Performance Budgeting
(2) IUREIRKT eRgid/Responsible Accounting

400

(iii)



9. 3.

I P YRIIT HITY STDHT ATV Ta SIS SFMR=0T T AHSTSU |

Define products explain it's characteristics and product
classification.

3197a1/ OR
YoM A a1 areud 8?2 Ul & ¥R, fadwany, orf vd adue A
YRR Ht gfFrar Fars|
What do you mean by Packeging? Explain level of packeging, their
characteristics and work and what is the role of packeging in recent
time.

g0 T P GRII HfSTI 39D [TITAN g UPR F IR H g8y T
JI0S g TSP F HeT 3R qarsd|

Define Brand Name. Explain it's characteristics and types.
Differentiate between Brand Vs Trademark.

3197a1/ OR

FdeT F 7T I g7 fasmes & 9w sarsy v fasiuT Jreem &
BN BT IATSY |

What do you mean by Promotion? Explain characteristics of
Advertising and types of Advertising medium.

PeaR AT & Faer Pl |
Explain the classification of Retailers.
3197a1/ OR
IS A I B R Hifvel 591 fTAwan vg Scarg Sfad a6
Pl AT P T

Define product life cycle. Their characteristics and stages of

product life cycle.
* 0

(i)

124 Q. Paper Code : BCOMD306
DISTANCE EDUCATION EXAMINATION - 2019

B.COM. THIRD YEAR
PAPER - VI : PRINCIPLES OF MARKETING

TIME : 3.00 Hours MM : 70

frdar : geft et & S ARg 1 Fft uel & i g £

Note: Attempt all questions. Each question carries equal marks.

g. 1. fauwe o akfya iR v e o Je@ Tw=rsa |
Define marketing and explain the importance of marketing.
3197a1/ OR
foous fsr & @ aneRr 87 /) fIoway, aw@ v gwifad @R atel
PR P FAT|
What do you mean by marketing mix. Explain it's characteristics,
elements and factor affecting marketing mix.

. 2. TP Y9I TR o fA9faRIa=un & 3Ma9de awd sa1gd Td aTonN [ fardemuor
D FETIATY TS

Explain essential elements of effective market segmentation and
strategies for market segmentation.

3197a1/ OR

IUSFT FIER Pl GRITT HIUI ST ger &I fa9uarsn ug
TP LTI b ™ DI TS|

Define consumer behaviour. Explain characteristics and importance
of studying consumer behaviour.

(i) $.9.3./PT.0.



